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f (x , )0 , y g
1
k y f (x) y f (kx)  
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 Dy =
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 Dy = + ∞( , )

 Ry =
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∈
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 Ry =
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 Dy =
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I⎯⎯ →→

oMHoM Ioo ÀïÏ¼II ö¼¼1
2⎯ →2⎯ →⎯ →¾M kM eHkk »

Oa Sa μwSS
6⎯ →M »⎯ →⎯ →

y x −2 6x+x 2y x2 6x+xy x+x 6y x

 x y y x− + ⇒ + = ⇒0 6y⇒ = 2 2 4 2 0 4 2⇒ 6 2= 2 6+x 4 1x⇒ =−/ /=4 2− 0  »  
[ , )+, ∞ [ , )+, ∞
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SwHn Sn μw ¾SS M¾¾⎯ →» Ä
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y = +|x | 1 y = −|x |2 1

| (x) |(⎯ →| ) |(⎯ →⎯ →keH» ¦Ä¦¦
¸ÃÄIQÃÃ Sμw ¾Mμμ⎯ →» Ä

I⎯ →⎯ →

y = −| x |2 1y x −x2 1y x2
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x y 1
π x
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x m ax b n≤ ax ≤ Df (ax b)+ Df (x) [m , ]n

f (ax b)+

ax b+ m n≤ ≤x Df (x) Df (ax b) [m , ]n+
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3 4 23 25
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y f +f 2+1( x3− ) Rf =[ ,− ]2
2 3 f (x)
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− ≤ ≤2
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⎪⎧⎧
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¾M SLvº ¾¹Äo¤
IÀïÏ¼ö n¼d¶⎯ →⎯⎯⎯¾M keH» ¦Ä

Oa Sμw⎯ →⎯⎯⎯

y f= − +(x )1y f= +(x )1
 

| (x) |f⎯ →⎯⎯¾M keH» ¦Ä
SwHn Sμw⎯ →⎯⎯⎯

y f= −| (x ) |1y f= −(x )1y f= (x)

 

f (|x|)⎯ →⎯⎯¾M keH» ¦Ä
SwHn Sμw⎯ →⎯⎯⎯

y f= −( | x | )1y f= −(x )1y f= (x)
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IÀ n¼d¶ ¾My⎯ →⎯⎯⎯

oMHoM IÀïÏ¼ö1
2⎯ →⎯⎯⎯¾M keH» ¦Ä

Oa Sμw⎯ →⎯⎯⎯

y f= −( x)1 2y f= +( x)1 2y f= +( x)1
 

y = + = −2 2 2 2 2cos( x ) sin( x)
π π π

x f= ⇒ = = − ⇒1 1 2 2( ) cos( )π
 

keH» ¦Ä
¯IM Sμw ¾M⎯ →⎯⎯⎯¾M SLvº ¾¹Äo¤

IÀïÏ¼ö n¼d¶⎯ →⎯⎯⎯
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2( )y x= −( )32y x= >( ) ; ( )

3
2

3
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x

x

x

x

x
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×

= × =− −
4

2
4

2 2
4 2
8

2 1
23 1 3 1 ( )  

y x= ( )12

oMHoM »j IÀïÆoø⎯ →⎯⎯⎯

y x=2 1
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1
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−

=

1 0 1

2 1
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( , )−1 4 ( , )0 2 ( , )1 1

 y x= log0 2/

f ( |x| )⎯ →⎯⎯¾M keH» ¦Ä
Oa Sμw⎯ →⎯⎯⎯

y = +log ( | x | )0 2 1/y = +log (x )0 2 1/y x= < <log ; ( )0 2 0 0 2 1/ /

 y x= log0 2/

¾M keH» ¦Ä
Oa Sμw⎯ →⎯⎯⎯f ( |x| )⎯ →⎯⎯

y = +log | x |0 2 1/y = log | x |0 2/y x= log0 2/
 f ( x)1+

y f= −( x)1 2 y f= −( x)1

f ( x)1 2−⎯ →⎯⎯f ( x)1−⎯ →⎯⎯f ( x)1+⎯ →⎯⎯

 

keH»
¸ÃÄIQ Sμw ¾M

3⎯ →⎯⎯⎯þ~º IÀïÏ¼ö⎯ →⎯⎯⎯keH» ¦Ä
SwHn Sμw ¾M⎯ →⎯⎯⎯

y = − −| x |2 1 3y = −| x |2 1y = −| x |1y = | x |
C B

 y x x

x x
BC= ⇒ − − = ⇒ − = ⇒

− = ⇒ =
− =− ⇒ =−

⎧
⎨
⎩
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=
×
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 y f= −( x)2 f ( x)− <2 0 − − >f ( x)2 0

¾M SLvº ¾¹Äo¤
IÀïÆoø n¼d¶⎯ →⎯⎯⎯

.j¼{ïÂ¶ oMHoM IÀïÏ¼ö1
2⎯ →⎯⎯⎯⎯⎯

y f= −( x)2y f= ( x)2
.Dy = ( , )0 2 ( , )0 2 y f= −( x)2

 

¾M keH» ¦Ä
¯IM Sμw⎯ →⎯⎯⎯¾M SLvº ¾¹Äo¤

IÀïÏ¼ö n¼d¶⎯ →⎯⎯⎯f ( |x| )⎯ →⎯⎯

y = −1 1
| x |

y = − 1
| x |

y = 1
| x |

y
x

= 1

y( )2 1
2= y( )1 0=

 2 1> y x= ( )2 y x= −| ( ) |1 2 y x= ( )2

| (x) |f⎯ →⎯⎯keH» ¦Ä
¯IM Sμw ¾M⎯ →⎯⎯⎯¾M SLvº ¾¹Äo¤

IÀïÏ¼ön¼d¶⎯ →⎯⎯⎯

y x= −| ( ) |1 2y x= −1 2( )y x= −( )2y x= ( )2

 
f x y x

x
(x)= ⎯ →⎯⎯⎯⎯⎯⎯ = − ⎯ →IÀ n¼d¶ ¾M SLvº ¾¹Äo¤ SwHn Sμw ¾M keH»2⎯⎯⎯⎯⎯⎯ = − −y (x )2

− + =x x2

− + = ⎯ →⎯ − + = ⇒ + − = ⇒
=
=−

⎧
⎨
⎩≥x x x x x x
x
xx2 2 2 0

1
20

2 22·H¼U
(¡ ¡ ù)

x =1 x ≥ 0 x =−2
 

y = − −3 3| | x | |y = − −| | x | |3y = −| | x | |3y = −| x | 3
−6 6

3 3 0− − =|| x | | x

S SW±X¶ oÀ ®¨= = ⇒ =1
2 6 3 9 18( )( )
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f

x

x

x

x x
(x)= − = − +

− = + −1
1 1
1 1 1

1
y
x

= 1

¾M keH» ¦Ä
¯IM Sμw⎯ →⎯⎯⎯¾M keH» ¦Ä

SwHn Sμw⎯ →⎯⎯⎯

y
x

= + −1 1
1y

x
= −

1
1y

x
= 1

f ( )2 2= f ( )0 0= −{ }1 :(

 y x= sin y = − +sin( x )2 4
π

y = − +sin( x )2 4
π

y x=− +sin( )
π
4

y x= −siny x= sin

 y x= − +2 y
x

=− 1

n¼d¶ ¾M SLvº ¾¹Äo¤
(IÀïÆoø IÄ) IÀïÏ¼ö⎯ →⎯⎯⎯⎯⎯

y
x

=− 1
y
x

= 1

¾M SLvº ¾¹Äo¤
IÀïÏ¼ö n¼d¶⎯ →⎯⎯⎯¾M keH» »j

Oa Sμw⎯ →⎯⎯

y x= − +2y x= +2y x=

f (x)

{ , }−1 0 Rf = −∞ − +∞( , ] ( , )2 0
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 y f= +( x )3 2 y f= (x)

IÀïÏ¼ö n¼d¶ ¾M SLvº ¾¹Äo¤⎯ →⎯⎯⎯⎯⎯⎯¸ÃÄIQ ¾M keH» ¦Ä⎯ →⎯⎯⎯⎯

y f= ( x)2y f= − ( x)2y f= − +( x)2 1
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3 ×

⎯ →⎯⎯
IÀïÏ¼öOa ¾M keH» »j⎯ →⎯⎯⎯oMHoM »j IÀïÏ¼ö⎯ →⎯⎯⎯

y f= +( x )3 2y f= +(x )2y f= (x)

 m ax b n< + < Df (ax b)+ D nf (x) (m , )=

− < − < ⇒− <− < ⇒− < <1 1 2 2 2 2 1 1
2 1x x x

1 1
2

3
2− − =( ) ( , )−12 1 y f= −7 1 2( x)

 

− ≤ < ⇒ − ≤ < ⇒ = − ⇒ = −

− < − ≤ ⇒ <

3 3 7 1 7
3 1 7
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3

1 2 1 4 0
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x
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x D

D D

g
x

g
x

y

2 5 0 10 0 10 0 10
2 1 4 2 1
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≤ ⇒ < ≤ ⇒ = ⇒ =

⎧

⎨
⎪⎪

⎩
⎪
⎪

⇒ =

− −( ) ( )
( , ] D ( , ]

ff
g
xD( x)
( )

( , )3 4 2 1
0 7
3−

=

{ , }1 2 2
 y f= (x) [ , ]−4 3 y f= ( x)2
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